

## City of Aurora, IL

# Engineering

#### Jason Bauer, Director of Public Works/City Engineer 44 E Downer Place, Aurora, IL 60502

## **EVALUATION TABULATION**

ITB No. 25-167

Bridgeport Lane Storm Sewer Installation

RESPONSE DEADLINE: July 30, 2025 at 11:00 am Report Generated: Thursday, July 31, 2025

#### **SELECTED VENDOR TOTALS**

Vendor	Total
Winninger Excavating, Inc.	\$112,927.00
Martam Construction	\$147,589.00
Scanlon Excavating & Concrete Inc	\$172,500.00

## SCHEDULE OF PRICES

Schedule of Prices					Martam Construction		Scanlon Excavating & Concrete Inc		Winninger Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Select Granular Trench Backfill	120	CY	\$61.00	\$7,320.00	\$75.00	\$9,000.00	\$60.00	\$7,200.00
X	2	Unsuitable Soil Removal and Replacement	10	CY	\$121.00	\$1,210.00	\$75.00	\$750.00	\$100.00	\$1,000.00
Х	3	Class D Patching, 5" Binder & 1.5" Surface	150	SY	\$154.00	\$23,100.00	\$150.00	\$22,500.00	\$180.00	\$27,000.00

	Schedule of Prices				Martam C	onstruction	Scanlon Excavati	ng & Concrete Inc	Winninger Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	4	Combination PCC Curb and Gutter Removal and Replacement	30	LF	\$161.00	\$4,830.00	\$150.00	\$4,500.00	\$130.00	\$3,900.00
X	5	Seeding - Aurora Mix	50	SY	\$44.00	\$2,200.00	\$20.00	\$1,000.00	\$35.00	\$1,750.00
X	6	Storm Sewer - 8" DIP	24	LF	\$266.00	\$6,384.00	\$500.00	\$12,000.00	\$123.00	\$2,952.00
X	7	Storm Sewer - 12" RCP	190	LF	\$212.00	\$40,280.00	\$400.00	\$76,000.00	\$80.00	\$15,200.00
X	8	Storm Manhole, Type A, 4' dia.	1	EA	\$6,860.00	\$6,860.00	\$6,500.00	\$6,500.00	\$4,500.00	\$4,500.00
Х	9	Storm Inlet, Type , 2' dia.	2	EA	\$2,820.00	\$5,640.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00
X	10	Storm Catch Basin, Type A, 4' dia.	1	EA	\$6,860.00	\$6,860.00	\$5,000.00	\$5,000.00	\$5,800.00	\$5,800.00
Х	11	Metal Flared End Section, 8"	1	EA	\$740.00	\$740.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
Х	12	Class 3 Rip Rap	5	СУ	\$480.00	\$2,400.00	\$200.00	\$1,000.00	\$400.00	\$2,000.00
X	13	Field Adjustments to Proposed Storm Structures	2	EA	\$820.00	\$1,640.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00
Х	14	Traffic Control and Protection	1	LS	\$18,000.00	\$18,000.00	\$7,500.00	\$7,500.00	\$14,000.00	\$14,000.00

Schedule of Prices			Martam Construction		Scanlon Excavating & Concrete Inc		Winninger Excavating, Inc.			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	15	Temporary Staging	25	TON	\$35.00	\$875.00	\$50.00	\$1,250.00	\$25.00	\$625.00
Х	16	Non-Special Waste Disposal	25	TON	\$85.00	\$2,125.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00
Х	17	Special Waste Disposal	25	TON	\$85.00	\$2,125.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00
Total						\$132,589.00		\$157,500.00		\$97,927.00

#### ITEMS ORDERED BY ENGINEER

		Martam Construction	Scanlon Excavating & Concrete Inc	Winninger Excavating, Inc.		
Selected	Line Item	Description	Unit of Measure	Unit Cost	Unit Cost	Unit Cost
Х	18	Items Ordered by Engineer	Allowance	\$15,000.00	\$15,000.00	\$15,000.00
Total				\$15,000.00	\$15,000.00	\$15,000.00

## **VENDOR QUESTIONNAIRE PASS/FAIL**

Question Title	Martam Construction	Scanlon Excavating & Concrete Inc	Winninger Excavating, Inc.
Bid Deposit	Pass	Pass	Pass
Contact Information	Pass	Pass	Pass
References	Pass	Pass	Pass
Eligibility	Pass	Pass	Pass
Bidder's Tax Certification	Pass	Pass	Pass

Question Title	Martam Construction	Scanlon Excavating & Concrete Inc	Winninger Excavating, Inc.
Bidder's Certification	Pass	Pass	Pass
Apprenticeship or Training Program Certification	Pass	Pass	Pass
Union/Apprenticeship Requested Documentation	Pass	Pass	Pass
IDOT Prequalification Confirmation	Pass	Pass	Pass
Additional Information	No Response	No Response	No Response